MTH 1125 Test #1

SUMMER 2016

Pat Rossi Name

Instructions. Show CLEARLY how you arrive at your answers.

3z2—5x+2 _

1. Compute: lim, 5 =3 o

2. Compute: lim,_, - i;fgiié =
3. Compute: lim, .3 52— =

20 — 2 for =z <3
4. f(r) =< 4 for =3

10 — 2z for >3

Determine whether or not f () is continuous at the point z = 3.



rx—1
r2—2—6

5. Find the asymptotes and graph: f(x) =



6. Compute: lim,_,, ¥&2=3 —

r—1
7.

z=| f(z)= r= | fl@)=
3.5 10.1 4.5 10.1
3.9 100.8 4.1 100.8
3.99 1,000.3 4.01 1,000.3
3.999 | 10,000.3 4.001 | 10,000.3
3.999 | 100, 000.9 4.0001 | 100, 000.9

Based on the information in the table above, do the following:

(a) compute: lim, 4 f (z) =
(b) compute: lim,_, 4+ f (z) =

(c) Graph f (x)



9zi4+4z—8x __

8. Compute: lim, . o 35555 =

9. f(x)=062*—8z%+ 1222 4+ 242 — 5;  Compute: f'(x).

10. 4 [—3sin () + 3 cos (z)] =

11. f(z) = 22* — 3z + 3; compute f’(z) using the definition of derivative. (i.e.,
compute f’(x) using the “limiting process.”)



12. Compute: L [(2® + 5z + 4)sin (z)] =

13. Compute: i[ cos(z) } =

dz | sin(x)+z2



